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[,ﬁi B 1 ] Does the use of a Temporary Runner need to be announced?
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[ 2R3 P? ] There is no requirement under the rules to report this change to the plate umpire.
However, time needs to be requested and granted after all play in progress has been completed
before the change takes place to protect the runners and advise the scorer. [3.2.7; 3.1.23]
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[ :=] While “time” is called the Plate Umpire should ensure that the proper player from the batting
orderis used as the Temporary Runner. If the correct player from the batting order is not used this is
correctable and there is no penalty. If an unreported substitution or illegal re-entry is used as a
Temporary Runner, it is correctable in that the correct player must be placed on base. The
unannounced substitution or illegal re-entry rules apply to an incorrect Temporary Runner.
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[.,?x ] 2) Do we interpret Temporary Runner rules in the same way the Replacement Player Rule or

are all situations correctable? £ _F ¥ 12 @ * #r sk B 2P| > f2eepFiadh i ?

[ 3] 50P ] Allsituations are correctable except for the unreported substitution or illegal re- entry



or use of an ineligible player. The interpretation is more akin to the tie breaker run than the
Replacement Player Rule. [3.2.7; 3.1.23]
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[ :] Once the option is taken, the Coach cannot change their mind and place the catcher back on the
base. — LEH/ R [RFHIE KA FA T HBOR FIEFF AL RBF LK
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[ % ] 3] Inthe 1stInning, B1 hits a single. B2 flies out. B3 hits a single; there are now runners on
1B and 2B. B4 flies out for the second out. B5 the catcher hits a single. Bases are now loaded with 2
out. The offensive team coach announces that they wish to use a temporary runner for B5 as they are
the catcher and there are 2 out.
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[ FP ] B4 is now the last batter schedule to bat at the time the option is taken, B4 becomes
the Temporary Runner. [3.1.23;3.2.7]
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["}i t)| 4] In the 5th inning B4 hits a single. B5 who is the catcher also hits a single. B6 flies out. B7
singles. So bases are now loaded with one out. B8 flies out. The coach now takes the option to place a
temporary runner in for B5 who is on 2B and is the catcher.
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[ R ] At the time the option is taken, the batter scheduled to bat last is B8. B8 is not on base
so they would be the temporary runner. [3.1.23;3.2.7]
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[,35 ] 5) R3 on 3B, R2 on 2B, 1 out. S1 hits for B4 (the catcher). S1 reaches base on an error. R3



scores and R2 remains at 2B. B5 strikes out for the 2nd out. The offensive

team coach announces that B4 re-enters and immediately requests that B5 be placed on 1B as
the Temporary Runner.
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[%E'J?‘;ﬁlﬂq ] At the time of the request S1 is not the catcher of record, the re-entered B4 is not
officially in the game until a pitch has been thrown or a play made. The umpire correctly rules that B4
(the catcher of record) must be on base for at least one pitch before being replaced by the Temporary
Runner. [3.2.7;3.2.8¢)]
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[?& 5| 6 ] In the 5™ inning Team A’s pitcher is on 3" base and Team A’s catcher is on first base. The
coach of Team A wishes to exercise the option to put in a temporary runner for the catcher. The coach
uses the player who is then scheduled to bat last and who is not on base. The coach then exercises the
option to put a temporary runner on base for the pitcher. The coach uses the next batter scheduled to bat

last in the inning who is not on base.
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[ $ | 7] Top of the 4™ inning. The Flex has been pitching for the visiting team and the DP is batting
4™, There are two out when the DP hits a double. The Visiting Team manager ask to have the Flex enter the game
for the DP. The Flex is now running at 2" base. The Visiting team manager then asks to put in a temporary runner

for the Flex who is the pitcher of record from the previous inning.
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[::.’s (i) 8] B2, the pitcher, gets on base with 1 outs. B3 goes out on strikes. Now with two outs the
offensive coach wants to have a TR for the pitcher.
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[%E'J?‘;ﬁﬂg ] They can only use B3 as a TR, as he is runner to bat last in the inning, at the time the TR is
used. Note: Only in times where the TR would be either the catcher or pitcher of record, the coach can go

to the second to last player as the TR.
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[ ";i i 9] With the pitcher and catcher on base with 2 outs, can the coach use a TR for either of them or for only

one of them?
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[i?FLE!' R ] The coach can decide to use no, one or two TR’s in this situation. If he uses 2 TR’s it will be the

players scheduled to bat last and second to last who are not on base at the time the option is taken.
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[ :}‘i E)| 10] With 1 out the pitcher (B2) strikes out and the catcher (B3) gets on base. The coach wants to use
the TR for the catcher. Who is the correct TR
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[ FoR] P ] The coach can use either B2 or B1 - as B2 is the pitcher and they have the right for a TR as well.
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(&) 11]
R1(catcher) at 2B, R2 (pitcher) at 1B, 1 out. B4 is the second out. Who will be the TR if a) only R1 (catcher) b)
only R2 (pitcher) or c) both pitcher and catcher get(s) a TR?
- A SHFERLAE-CH K EIRE-F Fe hiro A Pﬁ{J_ Fe e TR

FRAERLE Y fepriad R (b) T E R2R Y TRRFE B R (o) K E o £

i % fepFEa R

[ 2 R3LF? ] Ina)and b) B4 will be the TR. In c) B4 and B1 will be the TR and the offensive coach can
decide who will be TR for which player. Why can the Coach choose? Because technically he can take one
option after the other and by that decide who is going to run for which player.
If the Coach elects to first have a TR for R1 at 2B (catcher) it will be B4 at 2B; and B1 will be TR for R2 at 1B
(pitcher). If the Coach elects to first have a TR for R2 on 1B (pitcher) it will be B4 at 1B; and B1 will be TR
for R1 at 2B (catcher). As this rule is supposed to speed-up the game, with both the catcher and pitcher on
base when the option is taken, the coach’s gets to pick who of the two possible TR’s will be running for

which player.
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[.,% E)| 12] With two outs B3 the pitcher gets on base and the coach has B2 run for them. With the next
at bat B4 the catcher gets on base and the the coach wants B2 to run for B4 and B1 for B3. Is that legal?
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[%E'Jéﬁﬂg ] No. At the time the coach takes the option for the second TR (for B4) B2 is already on base
and therefore cannot be the TR anymore.
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[$ i) 13] With two outs B3 the catcher gets on base and the coach has B2 run for them. With the next
at bat B4 the pitcher gets on base and the the coach wants B3 (the catcher) to run for B4. Is that legal?
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No, that is not legal. A player for whom a TR is on base cannot be a TR for another runner.

[ :}‘i E)| 14]Bl strikes out for the first out of the inning. B2 the pitcher, hits a 2 base hit. B3 the catcher,
flies out to F9. B2 advances to 3B. The offensive coach exercises the option to put in a temporary runner
for the pitcher. B3, the catcher is now scheduld to bat last and is entered as the Temporary runner for
B2. The offensive coach now exercises the option to put in a temporary runner for the catcher, Is this

legal and who is the correct the correct Temporary Runner for the catcher?
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[ Fop] P ] Yes, this is legal. B1 is the correct Temporary runner for the catcher. [3.2.7 c]
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[ % &) 15] with 2 outs, the pitcher hits a 2 base hit. B4 the catcher, hit a one base hit advancing Be to



3B. The offensive coach firstly exercise the option to put B1 in as the Temporary Runner for the pitcher,
then exercises the option to put B2 in as the Temporary Runner for the catcher. B5hits a home run and all
runners score. The defense appeal tha incorrect Temporary Runners were used.
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[ P 2R p ] For either Temporary Runner to be called out on appeal they must be on base at the time of the

appeal. The appeal is denied and all 3 runs scored count [3.2.7 c]
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[?& (i 16] B5 the catcher gets a double and is on 2" base with 2 out. The Manager elects to use the
Temporary Runner Option and since B4 is the Batter scheduled to bat last, B4 goes to 2" base to run for B5
the catcher. B6 the pitcher hits a double scoring B4. The Manager now elects to use Temporary Runner
Option for B6 the pitcher. The player scheduled to bat last is now B5 who is the catcher.
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[ FR| ] Placing B5 the catcher back on base is contrary to the intent of the rule and in fact delays
the game and does not speed up the game. When the player who is scheduled to bat last when the

Option is taken is also a player for whom the Temporary Runner Option can be used, the Manager may use

the second to last player to bat who is not on base as the Temporary Runner.
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